## GOVERNMENT TENDER NOTICE

## Notice Inviting Tender Nos.89,90,91,92,93 & 94/SERI/PCR/Nadia/2017-'18.

Sealed quotations are invited by the Executive Engineer, Directorate of Textiles(Sericulture), West Bengal, 45, Ganesh Chandra Avenue (2nd floor), Kolkata-13 for Constructional works in Nadia district from the enlisted contractors of P.W. Deptt. (Elec.), CB Directorate, as well as from the bonafide experienced and resourceful outside contractors having experience in such type

of works in Govt. Department / Zilla Parishad.

No.	Name of the Work.	Estimated Cost	Earnest Money	Place of Work.	Time of completion of work.
89/	Repairing of Doors & window of Rearing House No.1 & 2 with over-head Tank on Security Qtr. including water supply arrangement at Karimpore Sericulture Complex. Nadia under P.C.R.	Rs.3,00,396/- (Rupees three llakh three hundred ninety six) only.	Rs.7,510/- (Rupees seven thousand five hundred ten)	Karimpore Sericulture Complex, Nadia	I (one) month from the date of issue of Work Order.
90/	Repairing of Roof of old Pump House including allied works at Ranaghat Sericulture Complex, Nadia under P.C.R.	Rs.1,62,948/- (Rupees one lakh sixty two thousand nine hundred forty eight)only	Rs.4,075/- (Rupees four thousand seventy five)only	Ranaghat Seri. Complex, Nadia.	-do-
91	Repairing of doors & window of Reeling House Nos.1 & 2 with pueca plat form at Shibnibas Scriculture Farm, under P.C.R.	Rs.4,74,818/- Rupees four lakh seventy four thousand eight hundred eighteen) only.	Rs.11,890/- (Rupces eleven thousand eight hundred ninex) only.	Shibnibas Sericulture Farm, Nadia.	-do-
92	Repairing of 2(two) Nos. Gr'D' Qtrs. and 1(one) No. Demonstrators Qtr. with connecting road at Shibnibas Sericulture Farm. Nadia under P.C.R.	Rs.4,25,042/- (Rupees four lakh twenty five thousand forty two) only	Rs.10,626/- (Rupees ten thousand six hundred twenty six) only.	-(10-	-do-
93/	Renovation & Re-arrangement of inside Office Building of the Deputy Director of Textiles(Seri). Krishnagar Nadia under P.C.R.	Rs.4,98,614/- (Rupees four lakh ninety eight thousand six hundred forteen) only.	Rs.12,465/- (Rupees twelve thousand four hundred sixty five) only	O/o, the Deputy Director,Textiles (Seri),Krishnagar Nadja.	-do-
94/	Post construction of Anti-termite treatment for Office Building of the Deputy Director of Textiles(Seri). Krishnagar Nadia under P.C.R.	Rs.89,194/- (Rupees eighty nine thousand one hundred ninety four) only.	Rs.2,230/- (Rupees two thousand two hundred thirty) only.	-(10-	-do-

The quotation Papers (N.I.T., Schedule of Works, & Form: 2911(i/ii) etc.) may be obtained/downloaded from <u>seriwbgov.org</u> at free of cost. Duly filled quotation to be submitted/dropped in the Box kept at Head Quarters, Kolkata and papers should be arranged in the following manner.

Envelope - II, should be super scribed as Financial Bid for N.I.T.No....., Sl.No. of Work, Name of Agency and should contain filed on 2911 (ii) quoting in Rate both in figure and words, and Sealed.

2(two) Envelopes as noted above (I & II) should be put in a bigger Envelope and sealed. Agency should write clearly N.I.T. No..... Name of Work, SL. No. and Name of Agency on this Envelope and drop the same as per scheduled mentioned in this N.I.T.

Last date and time of submission of Tender	21-03-2018 at 3-00 P.M. at Headquarters, Kolkata.
Date of opening of Tender	21.03.2018 after 3-30 P.M. at Headquarters, Kolkata.
The street of the street was a literature and the street was an experience of the street was a second	Le anne es e communicación de la companya de la com

Technical Bid will be opened first. Financial Bid will be opened only if the Technical Bid is found acceptable.

Labour Cess will be deducted from Bill value as per Govt. Rules. All original copies are to be shown for verification. The details may be seen in the Office of the Commissioner of Textiles (Sericulture), West Bengal 45. Ganesh Ch. Avenue (2nd floor). Kolkata - 700 013 on any working days and in website: seriwbgov.org.

N.S.C./K.V.P. will not be accepted as Earnest Money. Only the Demand Draft / Bankers Cheque of a Nationalized Bank will be considered.

The Commissioner of Textiles (Sericulture), West Bengal reserves the right to reject/accept all the applications without showing any reasons thereof. If any date as above happens to be holiday the next working day will be considered as stipulated date. Acceptance of lowest Tender is not obligatory.

Notwithstanding anything contained in this N.I.T., the general and other terms and conditions will be binding upon all concerned.

Executive Engineer,
Directorate of Textiles (Sericulture),
West Bengal.

Memo.No: 40 57 (3) /ENG/CIVIL/PCR/3 (Vol.-4),

Dated, \_\_\_\_\_\_\_\_\_2018.

Copy forwarded for information & necessary action to :-

- 1. The Deputy Director of Textiles (Sericulture), Krishnagar, Nadia.
- 2. The Notice Board of this Directorate, Headquarters, Kolkata.

2. The Website of this Directorate of Textiles (Scriculture), West Bengal

Directorate of Textiles (Sericulture),
West Bengal.

Priced schedule for Repairing of roof of old pump house including allied works at Ranaghat Sericulture Complex, Nadia under P.C.R.

		Overstitu	Unit	Rate (Rs.)	Amount(Rs.)
l.No	Description of item	Quantity 16.00	Sq.m	325,00	5,200.00
.	Single Brick Flat Soling of picked jhama	10.00	34.111	323.80	3,200.00
	Bricks including ramming and dressing bed	2			<
	to proper level and filling joins with local				
	sand.			020.00	4601.00
2.	Dismantling all types of plain cement	4.90	Cum	939.00	4601.06
	concrete works, stacking serviceable			2	<
	materials at site and removing rubbish as directed within a lead				
	of 75m				
2	Ordinary Cement concrete (mix 1:1.5:3)	2.40	Cum	6020.00	14448.00
3.	with graded stone chips (20 mm nominal				
	0.20)				
	reinforcement if any, in ground floor as per				
	relevant IS codes.				
12	Pakur Variety.	10.00		672.00	6720.00
4.	125 mm. thick brick work with 1st class	10.00	Sqm	672.00	6720.00
	bricks in cement mortar (1:4) in ground	`		4	
	floor.	/			112100
5.	Dismantling carefully terraced floor only	6.00	Sq.m	739.00	4434.00
	(including floor finish if any) or lime terracing in	2		4	
	ground floor roof and removing rubbish as directed within a lead of 75 m.			1	
	(a) In 1 <sup>st</sup> Floor including roof.				
6.	Hire and labour charges for shuttering with	10.00	Sq.m	3300.00	3300.00
0.	centreing and necessary staging upto 4 m. using				
	approved stout props and thick hard wood planks				<
	of approved thickness with required bracing for				
	concrete slabs, beams, columns, lintels curved or				
	straight including fitting, fixing and striking out				*
	after completion of works. (upto roof of ground				
	floor)			-	
	25 mm. to 30 mm. thick wooden shuttering as				
	per decision & direction of Engineer-in-charge				
7.	Filling in foundation or plinth by silver sand in	1.60	Cum	655.71	1049.00
	layers not exceeding 150 mm. as directed and				
	consolidating same by thorough saturation with				
	water ramming complete, including the cost o	f			
	supply of sand.				
8.	Labour for taking out door and window frame	23.45	Sqm	119.00	2,791.00
	including shutter for repair or replacement of	2			4
	different parts of the frame & refixing the same including mending good all damages complete.				
	(Concrete and brick work for mending damage				.50
	will be paid separately)				
	Upto area 2.5 Sq.m.				
9.	Wood work in door and window frame fitted and	0.306	Cum	103081.00	31,543.00.00
	fixed in position complete including a protective			2	
	coat of painting at the contact surface of the				
	frame excluding cost of concrete, Iron Butt Hinges and M.S clamps. (The quantum should				
	be corrected upto three decimals).				
	(e) Sal : Malaysian.				
	, ,				
	I.	1		*1.X	1

Executive Engineer,
Directorate of Textiles (Sericulturte),
West Bengal

	5 t males 2	90.72	K.G.	73.35	21,324.00	
10.	MIC WORKS IN MISCREIS HIGGE HOME	90.72	1			
	tees etc. to sizes speciallybent, twisted, forged;					
	making holes drilled andfitted to rafter of trusses					
	with necessary bolts, nuts, washer or screws etc.					
	( length ofstraight not less than 230 mm)	5.00	Sqm.	3046.00	15230.00	
11	Chuttore of 7/3m hallel allu 1/5/4 9/4254	5.00	54			
	and windows as per design (each panel	_				
	reprieting of a single plank without joint and with j					
	ordinary glass of 7.4kg. Per sq.m./3mm thick)					
	fitted with putty bed and teak wood beads and					
	nails including fitting and fixing shutters in					
	position but excluding the cost of glass, putty,					
	teak bead, nails, hinges etc. and other fittings in					
	ground floor. hinges and other fittings in ground					
	floor.					
	35mm thick shutters with 19mm thick panel.					
	Shisu, Gamar, Champ, Badam, Bhola, Mogra,	/				
	Hallak.	88.50	Sqm	19.00	1682.00	
12.	Stripping off worn out plaster and raking out joints			1	2	
	of walls, celings etc. upto any height and inany floor including removing rubbish within a lead of					
	75m as directed.					
	Neat cement punning about 1.5 mm. thick in wall,	24.00	Sq.m	34.00	816.00	
13.	dado window sills, floor, drain etc.	7			580.00	
4.4	Supplying, fitting and fixing M.S. clamp for door	20	Each	29.00	580.00	
14.	and window frame made of flat bent bar, end	4		<b>*</b>		
	bifurcated with necessary screws etc. by cement					
	concrete (1:2:4) as per direction.					
	40mm X 6mm 250mm, Length.	/	F . d.	47.00	940.00	
15.	Iron butt hinges of approved quality fitted and	20 /	Each	47.00	940.00	
15.	fixed with steel screws, with 151 mark.					
	100mm X 58 mm, X 3.50mm.	/	Each	63.00	504.00	
16.	Iron socket bolt of approved quality fitted and	8 4	Each	03.00	/ _	
	fixed complete				-	
	a) 150mm long x 10mm dia bolt  White washing including cleaning and	77.00	Sqm	20.01	1541,00	
17.	smoothening surface thoroughly.				1	
	All floors:					
	Time and to	22.00	Sqn	180.00	5760.00	
18.3	Blacter (to wall floor, ceiling etc.) with sand and	32.00	3411	100.00		
	cement mortar including rounding off or chamfering corners as directed and raking out	4		-	*	
	listed including throating nosing and drip course	е				
	- #-Iding/staging where necessary (ground	1				
	floor). [Excluding cost of chipping over concrete	:				
	surfacel					
	With 1:6 cement mortar				0072.00	
40	20 mm. thick plaster With 1:4 cement mortar	62.00	Sq.	m 156.00	9672.00	
18	45 mm thick plaster	20.00	Sq	.m 126.00	2520.00	
18	a Lasth 4:1 coment mortar, 10 mm, thick plaster		Sq		684,00	
19		ed 10.00	39	1	1	
	with synthetic oil bound primer of approv	nd				
	quality including smoothening surfaces by sa					
	papering etc.	ace 18.00	Sc	m 29.00	522.00	
20	D. Priming one coat on steel or other metal surface with synthetic oil bound primer of approximately	ved <				
	quality including smoothening surfaces by sa	and				
	quality including smoothering samess by					
	papering etc.			an		
			E	vocutive Eng	rineer	

Executive Engineer,
Directorate of Textiles (Sericulturte),
West Bengal

21.1	Painting with best quality synthetic enamel paint of approved make and brand including smoothening surface by sand papering etc.	18.00	SQm	81.00	1458.00	
	including using of approved putty etc. on the surface, if necessary					
	(a) On timber or plastered surface :					
	With super gloss (hi-gloss) -					
	Two coats (with any shade except white)					
21.2	Painting with best quality synthetic enamel paint of approved make and brand including	18.00	SQm	79.00	1422.00	
	smoothening surface by sand papering etc.					
	including using of approved putty etc. on the					
	surface, if necessary					
	(a) On steel or other metal surface : With super gloss (hi-gloss) -					
	With super gloss (hi-gloss) - Two coats (with any shade except white)	_	1			
22.	Applying exterior grade Acrylic Primer of	46.00	Sq.m	31.40	1444.00	
	approved quality and brand on plastered or			7	_	
	concrete surface old or new surface to receive					
	decorative textured (matt finish) or smooth finish acrylic exterior emulsion paint including scraping					
	and preparing the surface thoroughly, complete					
	as per manufacturer's specification and as per		9			
	direction of the EIC.					
	One coat					
23.	Protective and Decorative Acrylic exterior emulsion paint of approved quality, as per	46.00	Sq.m	84.00	3864.00	
	manufacturer's specification and as per direction					
	of EIC to be applied over acrylic primer as					
	required. The rate includes cost of material, labour, scaffolding and all incidental charges but					
	excluding the cost of primer.					
	Premium 100% Acrylic Emulsion					

TOTAL=Rs.1, 44,049.00

.Add G.S.T.@ 12%(CGST 6% + SGST 6%) + = Rs. 17,286.00

Total= Rs.1, 61,335.00

Add labour welfare cess @1%

(+) = Rs. 1,613.00

Total= Rs. 1, 62,948.00

Executive Engineer
Directorate of Textiles (Sericultures
Government of West Benget